LhwR&EN (§J1E)

RO FERBARIUSEFFRAZERR (PHAEIR) CHRIGBEHCDONT

SH6E38188
AD. DUGEERDHATISESRMASEER (PERR) OSRAEETNELE, BBETROESDTY,
=
Ry |POREREAR| TEEM | SkER | akEm g
@0 , oy (A) (B) (C) D) =) (D/E)
BRI | 8,086 5515 5682 5674 5,198 1.09
o BHPIERY 1,439 495 325 323 299 108
+
ISR 260 o8 21 21 41 051
£t 9,785 6,108 6,028 6,018 5538 1.09
ZER 320 316 o7 95 o3 102
BHPIERY 110 88 5 5 5 1.00
REB i —
SR Q0 51 1 1 1 1.00
£t 520 455 103 101 Q9 102
& 10,305 6,563 6,131 6,119 5637 1.09
X1 COHZERE L PRES0,
X2 BRESREESD.
(BE . SHNSFEBIR)
BEFS | DEREEEAS| SEEH SRS SRS frsR
SPEQ o 2R (A (B) (C) D) (B D/B)
ZER 8,086 5,500 5619 5,602 5,205 108
- EPIR 1,439 485 310 306 284 1.08
= BEPR 260 110 7 7 28 025
£t 9,785 6,095 5,036 5915 5517 107
=ER 320 316 o4 92 o1 1.01
EPIR 110 88 8 ) ) 1.00
B ———
HESR Q0 49 0 0 3 0.00
5t 520 453 102 100 102 098
&5t 10,305 6,548 6,038 6,015 5619 107
X NEELEHRONE CHo,
2 EROSVNENSE
Bl 706 EERIR i FEEE) S055ERR
e BRE, e = | T G SR fE=
1 Bg 2 WS IR—y3vR | 159 1 2 B T+ ~R 217
2 =BT IED TREARSR 158] 2 52 BEC YRR 208
3 Bg il =ER 158 3 i | EEEZS! 167
3 L i =ER 156 4 5= Al SBR[ E ] 156
5 W B = Al SBR[ S ] 153 5 =R SR (BT 151
3 HHELEIR
SR |EsRE| B2EAS FEES (Y BHGEL | SREE
284 | mem - zaitnE| 24| 238 20ARE| SR aooiess
= S on Ml Te00—To05 | 38258(8)| 38278(K
<RINESHEE> SHMHEEES SRUBHES TEEER BiE(075)414-5348(185848)
RUTHEESS FREER SRHEDY Bi&(075)222-3311



RHOFERBMLRUSFFIRAFEER PHERESBEYHSFT—ERX

(28D
28 | doggy ——
i i FREE z%%? meas | SR ERES L T:; | WS
(A B) (C) (D) (E) (D)/(E) | 1B
e E [firH) 320 224 301| z01| 224 134| 112
B = o40| 168| 265 2es| 168| 158| 137
= =E [ 160 112| 185 188|  112| 138] 106
it = o40| 1e68| 184| 184 168] 1.10| 103
T = 200 130 112 112 130| ose| 099
® = = 240 1e68| 161| 1e1| 168] 096 091
2 9 E ()] 160 112| 119 118] 112| 105| 081
BEIHES =3 120 84| 111 111 84| 132 099
T = ogo| 198|215 215 196| 1.10| 097
=% ogo| 196| 219 219 196| 112| 135
2 @inoUITA 40 12| 17 17 12| 142| 247
2 2L IR 40 12 8 8 11| o73| 208
&6 = 7 = ogo| 196|183 153 179| o085| 094
o B LW = og0| 196| 240| 240l 198| 122| 120
= W = o40| 168| 185 155 168| o092| o076
> =K = 160 112| 101| 100| 112| o89| 089
3| REEIE go| 24| 40 38 o4| 158| 038
=HIED @ 120 36| 33 33 36| 092| 091
JEERR go| 24| 29 29 o4 121| 100
@ = 200| 140 133 132 140| o094| 085
z 3 = 200 137 1eo| 159 137| 1.16| o099
723l = 160 112| 73 73 o4| 078| 078
e |onoeproe 07058 108 83 40 40 33| 121| 094
F53<DHG 2| 22| 26 26 oo 1418| 127
1% Il = go| 56| 63 62 56| 111| 118
BT R E [frH) 240 168 149| 149] 18| o089 151
% 5 =3 200| 140 219 219 140| 156| 148
B VL ED, o40 120 191| 191 120| 159 143
EESA = og0| 196| 203| 2038| 196| 104| 099
5 B = og0| 196| 1ee| 1es| 178| o093| 097
PIE E [fTH) 160 80| 122 122 80| 153| 156
e =3 og0| 186| 1ee| 1ee| 184| 090| 101
P =3 o40| 168 195 1904| 168] 115| 135
=) % =8 (HSRRE) 160 T2 8 8 12| 067| 044
a0 g 30 19 1 1 2| 050 1.00
= (R ARSI 30 10 3 3 3| 100| 100
AL = o00| 140 127| 127 140| o091| 094
= 160 112|113  143[  112| 101] 134
" T iR 40 19 1 1 2| 050 000
B 50 W 30 9 4 4 4| 100| 043
B e 30 9 5 5 7| o71| 033
&%) 30 9 4 4 5| 080 167
=38 160 112| 79 79 o4| 084| 057
= Y25 NEE 40 12| 11 11 11| 1.00| 075
T 40 12 3 3 3| 100| 050
=l = 160 112| 139 139 12| 124| 118




SHETE | pmmi _ SEEL
ih PR a5 (PEBEIR | e 1 = | DREBE | SREH x4
2| s hke FRES RipFR) | FRAS 2 B Am | ex |reg| BS
(A) B) (C) (D) (E) (D)/(E) | fBX
0 60 41 o o ol 100| 1.00
L 5| —
=4 L2+ 30 16 > > ol 100| 1.00
0 & M w5 o00| 140| 180l 1s0o| 140| 129| 128
=3 SR (] 170 51 13 13 33| 039| 016
ol = 120 84 53 53 64| 083| 077
2 = R By 100 a7 3 3 3| 1.00| 067
5 P 60 43 5 5 5/ 100| 1.00
N BoRS 30 20 0 0 o — | 100
% = 180 126| 122 122  123| 099 0os
e 6 6 6| 100| 100| _
4 up . 30 O E A
(e 30 o 7 7 7l 100| 1.11
i L ] 160 112 06 o5 o5 100| 1.00
M Oy — 36 11 12 12 11| 1.09| 145
O7Rw 3 36 11 6 6 sl 075 109
T % E5570/0Y— 36 11 10 10 10| 1.00| 088
BETH A Y 36 11 6 6 10| 060| 050
BRTS O — 36 11 16 16 11| 1.45| 1.00
x 3T HotsiRILE [B{rre)] 90 47 8 8 s| 100| 1.00
E = 120 84 58 58 53| 100| 095
P e = 160l 111 113 113 114 102| 106
g SR B o5 29 7 7 7l 100| 1.00
— o [ 120 84 79 79 79| 1.00| 1.00
(B2FS5) s [l 30 9 o o ol 100| 1.00
—
=N N U "
(IE A =y [ 30 56 39 39 30| 100| 097
e o 160 112 06 06 o6| 1.00| 1.00
£
RIS 30 o 8 8 s| 100| 122
” Ak mom [ 66 45 35 35 35| 100| 1.00
(HHFS) EEEE (5] 24 10 2| 100| 150
A PHUH AT [Efl] 30 o 3 3 3| 100| —
REEFD) B35\ 0T+~ (84750 20 11 1 11 1.00| 067
2 8 # = o785| 6,108| 6028 6018 55338 109 107
T SENEREONEEN CESNORETSR. TERHET [S0A) THZ.
Fo (CMIE. B1E2E A EMC LT BASEDH
33 (DL, BRESREESOANELS
T4 GEEEEBONECHS.




PHOFERBR/LIUSFERAZERR PHERESBEHSFT—EBRXR

(REBFHI)
e \ SIREW \\
i | o | 2R | wman| =wen 24
fE R
PDRB (A) B (C) (D) (E) (D)/(E)
tEE | EU |22 .xH 40 33 0 0 o — 1.00] 5z
=]
- % 2Rl | =0 |2 .| 40 25 1 1 11 1.00| 1.00| =1
=N |
5 N3 80 58 1 1 11 1.00| 1.00
E
b5 | &
il 1%1 =i SR 90 51 1 1 1] 1.00| 0.00
|
5 170 109 2 2 2| 100| 057
i B | = R 40 40 8 7 7| 100| 1.00
=)
% I | 2B 58 40 40 14 14 14| 100 1.00
|
I E 80 80 22 21 21| 100 1.00
®r
& &K # 58 90 87 23 23 23| 100 1.00
E
253 5 W B 90 89 30 29 27! 107! 104
% RO 60 60 22 22 221 100 1.00
| W
ESES 30 30 4 4 4] 1.00| 1.00
N E 270| 266 79 78 76| 103 1.01
5 350 346 101 99 97| 102 1.01
E B & 5t 520! 455 103| 101 09| 1.02| 098
T1 EREESREUOREENLUSKR=NOROBERSE, ZTNENELNESHRERET T40A] THB.
F2  (CHEIE. B1HEBICUTUNDARES S,
I3 (DRI, BiEAaESEEZSOANESE
T4 FEEREHONETHD.




